| 4 | 5 | 6 | 7 | 8 9 | 10 | 1 | 12 | 13 | 14 | 15 | 16

100 mm
(standard of comparison)

REFERENCE LIST:
DRAWING / DOCUMENT No. DESCRIPTION
903254_PPGO1_PH02_MTAOQ7_05422_0U1107751002 | PLATE WORK LOT 2/ASSEMBLIES T2501-2503

40x ITEM - T2001

CONVEYING DIRECTION ~
=

[2x ROUND BAR CHAIN A6x24 (130mm) |

[BLANKING PLUG FOR PORTS G 1/4A|

[BOLT M16x80|
IWASHER D17/

[BOLT M16x80|
[WASHER D17]

£

e
Uclhmmmm-

Mo L
/
Mo L
\

\

\

F

|

/

/
\U_._
A

AN R ) Z AN\ "o A~ 1
Y | | o | @ &Qj @ | (& ‘E& A 'gO;' !

STEEL STRUCTURE EXECUTION CLASS: EXC2
TOLERANCES ACCORDING TO DIN EN ISO 13920 CLASS B,F

WELDING:

- UNLESS INDICATED OTHERWISE, ALL WELDS ARE MINIMUM 4 mm AND ARE CONTINUOUS

- ALL GIVEN WELDS DIMENSIONS ARE EUROPEAN WAY: THROAT DIMENSION, FOR LEG SIZE MULTIPLY THROAT DIMENSION BY 1,42
- SYMBOLIC REPRESENTATION ON DRAWING TO ISO 2553

- JOINT PREPARATION ACCORDING TO EN 9692-1 AND EN 1708

DERUSTING AND COATING ACCORDING TO:
- 903254_77701 7701 BECO1 00004 0U110198090 - PAINTING AND CONSERVATION
- 903254_77701_ZZ701_BECO1_00007_0U110200593 - PAINTING SYSTEMS

40x ITEM - T2002

LIST OF ITEMS FOR ITEM: T2001

/?,%SSEI%%EY QTY DESCRIPTION MATERIAL NORM | WEIGHT (kg)
|2x ROUND BAR CHAIN A6x24 (130mm) |
CONVEYING DIRECTION  ~_ T2501 1 WORKSHOP ASSEMBLY 144
l/
[BLANKING PLUG FOR PORTS G 1/4A] 72503 L | WORKSHOP ASSEMBLY 265
4 BOLT M16x80 88 IS0 4017 0.2
4 WASHER D17 SPRING STEEL | DIN 127/8 0.0
BOLT M16x80
[BOLT M16x80| : || 1 BLANKING PLUG FOR PORTS G1/4A STAINLESS STEEL DIN 910 0.0
[WASHER D17] WASHER D17 2 ROUND BAR CHAIN A6x24 (130mm) 52350R DIN 5685 0.1
TOTAL WEIGHT (Kg): TOTAL WEIGHT (kg): 417
m
H i t i HE LIST OF ITEMS FOR ITEM: T2002
Vo h i o i Lo
i \ Ay i i AR ool QTY DESCRIPTION MATERIAL NORM | WEIGHT (kg)
L T L o
g g - ~ g - T2501 1 WORKSHOP ASSEMBLY 14.4
\ 72502 1 WORKSHOP ASSEMBLY 265
[T2501] [T2502] 4 BOLT M16x80 88 SO 4017 02
4 WASHER D17 SPRING STEEL | DIN 127/8 0.0
1 BLANKING PLUG FOR PORTS G1/4A STAINLESS STEEL DIN 910 0.0
2 ROUND BAR CHAIN A6x24 (130mm) 52350R DIN 5685 0.1
{W} Lo o {6} L ® ] {%} @ R {w} ! TOTAL WEIGHT (kg): TOTAL WEIGHT (kg): a7
11 S Sz 1 1 2 1
1SO [ ScREW | Q1Y | DESCRIPTION [ GRADE | NORM [WEIGHT (kg)
(1:20)

[BLANKING PLUG FOR PORTS G 1/4A|
[2x ROUND BAR CHAIN A6x24 (130mm) |

[4x BOLT M16x80 |

AutoCAD-Mechanical
Metso:Outotec DIN Al




